Chapter 6 Section 6.4 Solving Trigonometric Trigonometric Identities
Equations Using Identities

Name: Date:

Using identities to reduce complexity in expressions and solve

Learning Goal 6.1 .
equations.

More Questions — Solutions

1. Solve each equation algebraically over the domain 0 < x < 2m.

a. 4sinx—-1=0 b. sin?x —sinx =0
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Trigonometric Identities

c. sin2x —1 = cos2x d. 2sin?x —3cos2x =3

2sinxcosx —1=2cos?x —1 2sin?x —3(1 — 2sin’x) = 3
2sinx cosx = 2 cos? x

2sin?x —3 4+ 6sin’?x = 3
2sinxcosx — 2cos?x =0
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e. cosx+1=2sin’x

cosx +1=2(1— cos?x)
cosx+1=2— 2cos?x
2cos’x+ cosx—1=0
2cos’x+ cosx—1=0
(2cosx —1)(cosx+1)=0

Trigonometric Identities

sec’x+5secx+6=0

(secx +2)(secx+3)=0

secx+2=0
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CoOSXx = — =
2

2cosx—1=0
2cosx =1 cosx+1=0
1 cosx = —1
cCoOsSx = —
2
\'2
-1 1 1 1
2
X1=XR X3—T[
o
3
5 T
X, = J—
2 [ 3
_57‘[
3
Assignment

w3

[3<
Il
3
_|_
|

p.320#1-5,7-11,14-18,C1,C2

secx+3=0
secx = —3
cosx = —3
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